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S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/ NERPEE(BEFREERENRREE)
fotr 2.277 0.003 - 0.123 0.012 &
S TR 1.512 0.000 - 0.570 0.062 =
/b= (HCI) 4.545 0.041 - 0.456 0.179 s
mIbE (HF) 0.306 0.010 - 0.088 0.046 s
—E/Ehi (SO2) 15.147 0.007 - 3.221 2.004 =
—&Ei% (CO) 7.578 0.000 - 0.137 0.029 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 1.362 - 8.181 2.770 =
EHE
(b) [FFEEEH - HEE (HFEIRENAGER)
(EGA 0.756 0.007 - 0.020 0.012 &
S T 0.756 0.018 - 0.145 0.062 =
/b= (HCI) 0.756 0.139 - 0.301 0.179 s
mIbE (HF) 0.072 0.039 - 0.051 0.046 s
— &b (SO2) 3.789 1.452 - 2.737 2.004 =
—&Ei% (CO) 3.789 0.012 - 0.043 0.029 =
HEEY (NOx)
LIS [EE (NOy) 15.147 2.076 - 3.758 2.769 =
EHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
IR R g ) 7.575 x 10°° <6.378 x 1020 &
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YK AF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPSE(BEFREEREN AR EE)
(CGA 2.277 0.002 - 0.194 0.005 &
S TR 1.512 0.015 - 0.509 0.064 =
FJLFE (HCI) 4,545 0.031 - 0.292 0.177 s
mIbE (HF) 0.306 0.005 - 0.081 0.042 s
—E/Ehi (SO2) 15.147 0.001 - 4.968 1.999 =
—&Ei% (CO) 7.578 0.000 - 0.087 0.018 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.195 - 6.482 1.121 =
EHE
(b) [FFEEEH - HEE (HFEIRENAGER)
(EGA 0.756 0.002 - 0.012 0.005 &
S T 0.756 0.028 - 0.137 0.063 =
/b= (HCI) 0.756 0.142 - 0.223 0.176 s
mIbE (HF) 0.072 0.032 - 0.049 0.042 =
— &b (SO2) 3.789 1.259 - 2.510 2.003 =
—&Ei% (CO) 3.789 0.001 - 0.033 0.018 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.580 - 1.915 1.123 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() RSN (HETEBFTERE)
7K 0.003789 0.0003 =
i fe SEHVAR 0.003789 <0.0011 =
E4EEE" 0.0378 <0.005 &
R R g ) 7.575 x 10°° <5.572 x 1010 &
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Y& BE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPSE(BEFREEREN AR EE)
(CGA 2.277 0.001 - 0.009 0.002 &
S TR 1.512 0.031 - 0.393 0.064 =
/b= (HCI) 4.545 0.053 - 0.127 0.093 s
mIbE (HF) 0.306 0.014 - 0.071 0.037 s
—E/Ehi (SO2) 15.147 0.241 - 2.524 1.485 =
—&Ei% (CO) 7.578 0.007 - 0.039 0.027 =
HEEY (NOx)
PL=&1E%E (NO2) 30.303 0.572 - 4.322 1.218 =
i E
(b) [FFEEEH - HEE (HFEIRENAGER)
(EGA 0.756 0.002 - 0.002 0.002 &
S T 0.756 0.043 - 0.074 0.063 =
/L4, (HCD) 0.756 0.086 - 0.102 0.093 =
mIbE (HF) 0.072 0.037 - 0.038 0.037 s
— &b (SO2) 3.789 1.342 - 1.620 1.487 =
—&Ei% (CO) 3.789 0.023 - 0.030 0.027 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.762 - 1.562 1.224 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() RSN (HETEBFTERE)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0053 &
R R g ) 7.575 x 107 <5.958 x 1020 &
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&% BF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPSE(BEFREEREN AR EE)
(CGA 2.277 0.002 - 0.230 0.006 &
S TR 1.512 0.011 - 0.560 0.065 =
/b= (HCI) 4.545 0.000 - 0.135 0.096 s
mIbE (HF) 0.306 0.000 - 0.055 0.036 s
—E/Ehi (SO2) 15.147 0.015 - 2.778 1.749 =
—&Ei% (CO) 7.578 0.008 - 0.096 0.060 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.393 - 3.971 0.920 =
EHE
(b) [FFEEEH - HEE (HFEIRENAGER)
(EGA 0.756 0.002 - 0.069 0.010 &
S T 0.756 0.035 - 0.109 0.063 =
/b= (HCI) 0.756 0.053 - 0.120 0.093 s
mIbE (HF) 0.072 0.021 - 0.039 0.035 s
— &b (SO2) 3.789 1.612 - 1.842 1.742 =
—&Ei% (CO) 3.789 0.042 - 0.075 0.060 =
HAY) (NOx)
LIS [EE (NOy) 15.147 0.598 - 1.661 0.972 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() RSN (HETEBFTERE)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0013 =
E4EEE" 0.0378 <0.0058 &
R R g ) 7.575 x 107 <6.531 x 1020 &
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